ax—2by =2

A4
2ax + by = 24
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4a —4b = 2 5
La=—=,b=2
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® m=2 n=-1
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y = 22 DAl st

2x +2x =16

Lx=4,y=28
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a+b a-b
3 V= 3 A o, 3ax + 6by 5 a ¢t b of T Ao2

LR ?

® a®>+ab+b? @ a® + 2ab - 2b? @a2+3ab—2b2

@ a? - 3ab - 2b? ® a? - 3ab + 2b?

+b ~b
3a(“3 >+6b(“3 >:a2+3ab—2b2




A=2x-7,B=x-3y+2z,C=4y+z 2 o, o3 A x, y, z
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A-2B-{B-(A-2C)+C}

® x+3y-11z @ x-3y+9z @x—3y—1lz
@ Tx-3y-11z ® Tx-3y-5z

B ~

A-2B-{B-(A-2C)+C}
=A-2B-(B-A+2C+C)
—A-2B-(B-A+3C)
=A-2B-B+A-3C
=2A-3B-3C

2A-3B-3C
=2(2x-2)—-3(x—3y+27)—3(4y+2)
=4x—-2z-3x+9y—-6z—-12y - 3z
=x-3y-11z




6. x=2a-b,y=-3a+bQd W, 2x-5y5 a bol B3t AOoZ 27

e A9
® 19a-17b @19a—7b ® 19a-3b
@ 19a+ 7b ® 19a + 3b

B

x=2a-bO|BE 2x =2(2a - b) = 4a - 2b
y=-3a+b°|EZE 5y = 5(-3a + b) = —15a + 5b
2x — By = 2(2a — b) — 5(=3a + b)

= 4a - 2b + 15a - 5b

=19a-T7b




